duid 3] (guibinit JbS 69 I (gunihi Gl bt § Gl g

JS oS

206F

\&
—
o
K

A P L P L PO E A Pt P L P S P A P L A A A LA R

Gy yas ’V‘ RO L I JOX  PRSNCP YL NT SR P
avivis A el ad o

alp! ol (5 )90e
&35 5 Sl pale Oyl
98 el e plejle

[ (11+8) o5 = ol pl Sl syl j
A3 140 1 0 efiwl Do I 1Yo g Sloas |
S 8lels g dlaws o Jloial Slge ylgas
e U | 3 leds 3 | Jlguw Slass el dge @y
Y. \ Y. () paais g goges b3 | )
4 A Ve B U)o g sl | Y
3. 7\ Y. bl Olesde | T
\r. e} Y. Ol 51 e ol Sis ) g Fu U ¥

ot Jloee Wl il 5 aalaiw! D10 e b ped U,")i o)

g 5 e g il b g ddign o Gl o 3 e g o Ao o oaled 51 4059031 81 3 31 (1meg s Y] s 9 0 W S 5 350 0l 5>

R R R R R RARA AR VYAV | R R R R R R o o o
Gl ey e bt § 92 it )] gl ;b 90 5 bS] § bl G s




duid )] (guibiit JbS 69 (gundi Gaiel bt § Gl g

¥ i 206F (1144 35) ol p! Gliwl o sb; (yee)T

ol (19031 dds 10 Lol jgea s & jods (b3 Joua Ol jade 10 Lasl § Glakie 730 pos ool )5 Ldbgls ¥

plad on ST 5 anns] oo il 30 i Bl bisbadily e . il

.‘(M/) M“’;o,a‘ (Jb)

| PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

I-  Animal welfare science is an emerging field that seeks to answer questions —-----—--- ---
by the Keeping and use of animals.
1) raised 2) resolved 3) settled 4) evolved

2-  The low soil fertility problem can be --——--eceeeueev by applying the appropriate lime and
organic fertilizers.
1) traced 2) preceded 3) mitigated 4) necessitated

3-  The chef furnished his assistant with very explicit instructions regarding the ——-----eeeeee-
to be used for the new dish.

1) properties 2) aesthetics 3) ceremonies 4) ingredients

4-  The problem of power cut was so important that we decided not to bother about the
other —-----ceeeeev -~ issues that were not much of a concern at that time.
1) gradual 2) peripheral 3) tranquil 4) lucrative

5-  Everybody knows that Ted is a chronic procrastinator; he -------—-——---- puts off doing his
assignments until the last minute.
1) spontaneously 2) marginally 3) habitually 4) superficially

6- The world's governments have made a joint -----eeeceeeeee to significantly reduce
greenhouse gas emissions by the year 2030.
1) malady 2) determination 3) involvement 4) pledge

7-  Scientists do their best try (0 —==-—emmeemeee themselves from their biases and be objective.
1) detach 2) delete 3) ignore 4) strengthen

8- The local businessman accused the newspaper of defaming him by publishing an article
that said his company was ——-—----—--- managed.
1) seriously 2) centrally 3) poorly 4) crucially

9-  Landing a plane on an aircraft carrier requires a great deal of --—--eeeeeeeee , 48 you can
crash if you miss the landing zone by even a little bit.
1) determination 2) precision 3) rationality 4) consultation

10- New growth of the body’s smallest vessels, for instance, enables cancers to enlarge and
spread and contributes to the blindness that can ----------—--—- diabetes.
1) cause 2) halt 3) identify 4) accompany
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PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

12-

13-
14-

Estimates of the number of humans that Earth can sustain have ranged in recent
decades from fewer than a billion to more than a trillion. (11) ————- , since
“carrying capacity” is essentially a subjective term. It makes little sense to talk about
carrying capacity in relationship to humans, (12) -—---——-—--— and altering both their
culture and their physical environment, (13) ---m-emeemm- -- can thus defy any formula
(14) —memmmmmmee- the matter. The number of people that Earth can support depends on
(15) ===mmmmmmmmmmm, on what we want to consume. and on what we regard as a crowd.

1) It is probably unavoidable that such elasticity

2) Such elasticity is probably unavoidable

3) It is such elasticity probably unavoidable

4) That it is probably unavoidable for such elasticity

1) that adapt their capability 2) whose capability is adapted

3) who are capable of adaptation 4) who are capable of adapting

1) therefore 2) because 3) and 4) next

1) might settle 2) might be settling

3) that might settle 4) which it might settle

1) how we on Earth want to live 2) Earth where we want to live

3) where we want to live in on Earth 4) where do we want to live on Earth

Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best

| choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

16-

PASSAGE I:

The language known as New Persian, which usually is called at this period (early
Islamic times) by the name of Parsi-Dari. can be classified linguistically as a
continuation of Middle Persian, the official religious and literary language of
Sassanian Iran, itself a continuation of Old Persian, the language of the Achaemenids.
Unlike the other languages and dialects. ancient and modern, of the Iranian group such
as Avestan, Parthian, Soghdian, Kurdish, Pashto. etc., Old, Middle and New Persian
represent one and the same language at three states of its history. It had its origin in
Fars and is differentiated by dialectical features. still easily recognizable from the
dialect prevailing in north-western and eastern Iran.

The language which the Sassanian used for their literature -——--——-—---,
1) has remained unknown

2) was a continuation of Parsi-Dari

3) was a continuation of Middle Persian

4) was Middle Persian itself
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19-

20-

21-

22-
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The word "itself" in line 4 refers to - -
1) Parsi-Dari 2) New Persian 3) Middle Persian  4) Old Persian
According to the passage, the origin of New Persian ----eceeeeee,

1) was in Fars

2) is blurred

3) was in north-western and eastern Iran

4) seems to be the same place where Avestan, Parthian, Soghdian, Kurdish, and Pashto

emerged
The basis of the classification mentioned in line 2 is
1) language use 2) linguistic
3) order of appearance 4) chronological
The word "prevailing" in line 9 is closest in meaning to - ————-
1) evolving 2) appearing 3) dominant 4) favorable
PASSAGE 2:

The first language in the human species has been the topic of scholarly discussions for
several centuries. There is no consensus on the origin or age of human language. The
topic is difficult to study because of the lack of direct evidence. Consequently,
scholars wishing to study the origins of language must draw inferences from other
kinds of evidence such as the fossil record, archaeological evidence, contemporary
language diversity, studies of language acquisition, and comparisons between human
language and systems of communication existing among animals (particularly other
primates). Many argue that the origins of language probably relate closely to the
origins of modern human behavior. but there is little agreement about the implications
and directionality of this connection.

This shortage of empirical evidence has led many scholars to regard the entire topic
as unsuitable for serious study. In 1866, the Linguistic Society of Paris banned any
existing or future debates on the subject, a prohibition which remained influential
across much of the western world until late in the twentieth century. Today. there are
various hypotheses about how. why. when, and where language might have emerged.

What is the best title for the passage?

1) Language Evolution

2) Genesis of Language

3) Uniqueness of Human Language

4) Language Communication: Misunderstandings

According to the passage, scholars do not see eye to eye about the age of human

language because they ---—-eeeeeee,

1) follow their own preconceptions

2) make invalid comparisons between languages

3) have no access to almost any concrete evidence in this regard

4) are confused by the variations that languages have undergone throughout their
development
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23-  Which of the following is NOT mentioned in the passage as a sort of evidence for those
probing the origin of language?
1) Means of communication among primates
2) Direct empirical evidence
3) Archeological evidence
4) Fossil records
24- The prohibition referred to in paragraph 2 -----e---- o
1) was observed to a great degree for over a century
2) stopped any potential progress in language study
3) helped resolve scholars' discord over what the first human language was
4) further exacerbated a bad situation that existed due to lack of empirical evidence
25- What would the paragraph immediately following this passage most probably discuss?
1) Nature of human language
2) New types of linguistic evidence
3) New scholarly debates
4) Some hypotheses

PASSAGE 3:

From the exaggeration of a critic like Wilson one might get the impression that much
of the effort to introduce new words into the language was pedantic and ill-advised.
Some of the words Wilson ridicules seem forced and in individual cases were certainly
unnecessary. But it would be a mistake to conclude that all or even a large part of the
additions were of this sort. Indeed the surprising thing about the movement here
described is the number of words that English owes to the Elizabethan era and that
seem now to be indispensable. Many of them are in such common use today that it is
hard for English speakers to realize that to the Elizabethan they were so strange and
difficult as to be a subject of controversy. When Elyot wished to describe a democracy
he said, “This manner of governaunce was called in Greke democratia, in Latine
popularis potentia, in Englisshe the rule of the comminaltie.” If he were not to have to
refer to “the rule of the commonalty™ by this roundabout phrase. he could hardly do
better than to try to naturalize the Greek word. Again he felt the need of a single word
for “all maner of lerning. which of some is called the world of science, of other the
circle of doctrine. which is in one word of Greke. encyclopedia™ Though purists might
object, the word encyvdopedia filled a need in English, and it has lived on. The words
that were introduced at this time were often basic words—nouns, adjectives. verbs.

26- Which of the following best describes the author's attitude towards Wilson's opinion
about the new words introduced into the English language in the Elizabethan era?

1) True only to a limited extent 2) Exaggerated disapproval
3) Contemptuous 4) Amused
27- What does the phrase "this sort" in line 5 refer to?
1) Mistaken 2) Exaggerated
3) Forced and unnecessary 4) Large in number but needed
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28- Which of the following represents the author's view toward the words added to English
in the Elizabethan era?
1) They should have been avoided.
2) They are a subject of controversy.
3) They were pedantic and ill-advised.
4) They are important and still in common use in today's English.
29- The word "it" in line 16 refers to
1) English 2) encydopedia
3) world of science 4) purists' opinion
30-  Which of the following could be inferred from the passage?
1) At the time when Elyot wanted to refer to "democracy", there was no such word for
that in English.
2) Without additions of some nouns. adjectives, and verbs during the Elizabethan era.
the English language would have been deficient today.
3) Borrowing words from other languages is a natural rule to which we should not
consider the English language as an exception.
4) Without words from other languages now commonly used in English, this language
would have included more phrase-like structures than it does today.
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